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State Eligibility Test - 2017

Philosophy

(Final Answer Key)

Part-A

According to Purusha Sukta, which devatas of the
following are said to have been born out of the mouth of
the transcendental being

Indra and Varuna
Indra and Agni
Varuna and Agni

Varuna and Vayu

"Tajjalana" means

That which expands
That which explodes
That which is born with

That which gives rise to

Match List - I and List - II and select the correct answer
using the codes below

List-I
A.Gods of the sky
B. Gods of the mid - Air
C.Gods of the Earth
D.God of Morning
Codes:ABCD

List -1l

1.Agniand Soma
2.Ushas

3. Mitra and Varuna
4. Indra and Marutas

A-1,B-2,C-3,D-4
A-3,B-1,C-4,D-2
A-4,B-3,C-1,D-2

A-3,B-4,C-1,D-2
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Which one of the following is not consistent in five
components of panchavayava Anumana?

Pratigna
Hetu
Paramarsha

Nigamana

Which one of the following is not correctly matched?
Svataha : Apramanya - Sankhya

Svataha : Pramanya - Nyaya

Parataha : Pramanya - Bauddha

Parataha : Apramanya - Mimansa

Match List - I and List - II and select the correct answer

UTad AT H Plef T Teh fqehod 31T & ?
i
ga.

9

qRTer
lcoeol

ot 3 @ it &1 geA S AT §
TEd : JITHIT - ET

¥ad : YAYY - 7T

9T : YA - §ig

e

! YTATYY - HATET

T - 1 aur g - 11 AT Y| 7 few 97T et S gerrdr
T FE 3c gl

according to the code given below: o ' "r\l “ I
List-} List-1I (T) o FH 1. Ha G9lol §ag
r. Mishr . Sarva- Darst g
gf,es;\; v .s: a ;L ::[f\,f Da\{sr:.r?a sangraha (Eﬁ) AeaTaTs 2 ocllp dllas®
.Madhavacharya 2.Shloka - Vartika _
C.Dharmarajadhvarindra |3.Tarkbhasha Gﬂ) TG tiReg | 3. Tk HI
D. Kumaril Bhatta 4.VedantaParibhasha (31) HHATNRA 2 4. geid givsmar
Codes:tABCD .
T (@ @ @ @
Fe:

A-1,B-3,C-2,D-4
A-3,B-1,C-4,D-2
A-2,B-3,C-1,D-4

A-4,B-1,C-2,D-3

'Anuplabdhi' is rejected by
Kumaril and Prabhakar
Prabhakar and Naiyayikas
Kumaril and Naiyayikas

Prabhakar, Kumaril and Naiyayikas

u-1,d1-3,41-2,31-4
T-3,#1-1,®-4,9-2
v-2,d1-3,4d1-1,31-4

T-4,d1-1,4-2,3-3
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In the context of Pratityasamutpada, put the following is AN & qoet A # & et H !

correct (ascending order) (T) geom
a.Trushna (Thirst for sense enjoyment) (@) ATH-37
Q.No: 8 b.Nama - Rupa(Psycho Physical Organ)

c.Upadana(Changing to enjoyment) () 3uTeTe
d.Vedana(sense experience) (3) Agar
Codes: FT
A a,bcd () (&) (&) (3N)
B d,c,a b @) #F) (v) &)
C cab,d @ (v) &) &)
D b, d, a, c @) (3) (v) (&)
Q.No: 9 :Trigunadiviparyayat' is the argument by samkhya School ﬁ?m T T HIET GaRT &7 P Feal & fow agFd
in favor of REL
A Purush Ty
B Prakriti ‘Tajﬁ'
C satkaryavad Hehriarg
D Evolution fasrare
Q.No: 10 Z\/Créi)c::j;fgt?s \f/(;lilsr\:veigﬁis:ubstances have no atoms AT oieT & et gt & AT 8T B &2
A Time and Space HTd UG 3o
B Earth and Water gedt T Ser
C Water and Fire ST g e
D Fire and Air afoer 3R Ay
Q.No: 11 The relation between word and their meaning is natural AFATATET H F foheT & GIRT F¢ AT 1277 § foh e T 3a1eh 31
and eternal is the view upheld by Taras g ST §
A Naiyayikas darfe
B Mimansak At
C Vaisheshik CRI

D Charvak SIGICD
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Which one of the following option is not acceptable to
Jainism:

Human knowledge is relative knowledge
The reality has innumerable properties

The Tirthanharas are the creators of the world

The Astikaya substances are divided into Jiva and
Ajiva Astikaya

Triputi pratyaksavada is the view of
Udyotkar

Shankar

Kumaril

Prabhakara

The relation between body and soul according to
Ramanuja

Aprithakasiddha
Bhedabheda
Vishistadvait

Tadatmya

"Satyanrte Mithunikritya" according to Vedas, is the
feature of

Brahma
Jiva
Jagat

Adhyasa

Who is not vedantin among the following
Govind Pad

Kapil

Nimbarkacharya

Ramanujacharya
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Q.No: 17 Which option is not correct among the follwing:

A

B

Q.No: 18
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Haribhadra - Shat Darshansamuchaya
Prashastapad - Padarth Dharma Sangraha
Gautam - Brahma Sutra

Umasvami - Tattvarthadhigama Sutra

Which one of the following is not related to Panchkleshas
of yoga Philosophy

Avidya
Samskara
Raga

Abhinivesh

Who is known as a 'Liaison officer' east and west in the
field of Philosophy?

Ambedakar
Tagore
Vivekananda

Radhakrishnan

Match List - I and List - II by using the code given below
and select correct answer:

e & & AT a1 faoheT T8 A &
eRerg - w3 i Wy

TR - 9Ty €3 WA
Tia# - wEA g
3ATEETHY - deadifeeTT g
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List- | List-1l
(Thinker) (Books)
a.Mahatma Gandhi- The life divine
b. Sri Aurobindo - Ethics of the Vedanta
c. K.C. Bhattacharya - My experiment with truth
d.Radhakrishnan - _Studiesin Philosophy

Codes: ABCD

rall R T e

a-3,b-4,c-1,d-2
a-3,b-2,c-1,d-4
a-3,b-1,c-4,d-2

a-3,b-2,c-4,d-1
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T-3,d -4,41-1,31-2
v-3,d1-2,41-1,31-4
v-3,d1-1,1-4,31-2

T-3,d1-2,d1-4,3-1
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Q.No: 22

Q.No: 23

Q.No: 24

Q.No: 25

Which one of the following is not creative intuition
accepted by Radhakrishnan according to Indian Tradition

Analysis of self
Intuitive Apprehension
Sense experience

Intellectual Cognition

Which one of the following is correct option about the
stages of Philosophy according to K.C. Bhattacharya

Philosophy of Education
Philosophy of Social Science
Philosophy of Truth

Philosophy of Epistemology

Which is correct answer according to Aristotle
Form and matter are separatable

Form and matter are inseparatable

Form and matter are unrelated

None of these

Which one of the following is not correct according to
Plato?

Universal's co-exist with the particulars
Universals are Substance
Universals are real

Universals are plural

'God is unmoved mover' is related to
Plato
Aristotle

Pythagoras
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Q.No: 27
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Parmenides

Match List - I and List - II and select your answer by
according to the codes given below:-

List- | List-1l
a. Anaxagoras | 1.Principle of Nous
b. Democritus | 2. Knowledge isvirtue

c. Protagoras 3. Homo mensura
d. Socrates 4. Atomic theory

a-2,b-1,c-4,d-3
a-1,b-4,c-3,d-2
a-3,b-1,c-4,d-2

a-1,b-3,c-2,d-4

Which one of the following pairs related with soul
according to Acquinas?

Intelligence and feeling
Intelligence and will
Feeling and sensation

Will and sensation

Socrates
Aristotle
Protagoras

Pythagoras

'The ideal of life is to live according to nature' is the
ethical view of:

Epicureanism

Stoicism

Q.No: 28 'Man is the measure of the all things' is the statement of
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Q.No: 32

Q.No: 33

Q.No: 34

Sophists

Cynics

According to Plato ideas are
Mental concepts

Ever changing entities
Copies of the things

Non-spacial and non temporal entitles

According to Aristotle God is :
Pure potentiality

Pure form

Pure matter

A combination of potentiality and actuality

'Universals have existence distinct from particular things'

is the view of

Plato
Aristotle
Hume

Socrates

Which one of the following refutations has not been
made Berkeley?

Refutation about material substance

Refutation about spiritual substance

Refutation of distinction between primary and
secondary qualities

Refutation of Abstract ideas

'God is a spiritual entity with whom spiritual
communication is possible' is the theme of :

Theism
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Q.No: 36

Q.No: 37

Q.No: 38

Q.No: 39

Deism

Pantheism

Monism

Which one the following establishes the existence of

other minds according to Berkeley?

Inference
Imagination
Statement

None of these

Which book is not written by Descartes
The Principles of Philosophy

The Passions of the soul
Encyclopedia of Philosophic sciences

Discourse on method

Which book is written by Hume
Common Place Book
Treatise of Civil Government
Treatise on Human Nature

A Letter concerning Toleration

Division of knowledge into 'sensitive knowledge' and

'Intuitive knowledge' has been made by:

Descartes
Spinoza
Leibniz

Locke

Match List - I and List - II and select your answer

according to the code given below:
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Q.No: 40

Q.No: 41

Q.No: 42

List- | List-1l
Principles Philosopher
A. Cogito Ergo Sum 1. Locke
b. Essest Percipii 2. Descartes
c. Relations of Ideas 3. Hume
d. Demonstrative knowledge | 4. Berkeley

Codes:ABCD

a-2,b-4,c-3,d-1
a-2,b-3,c-1,d-4
a-3,b-2,c-4,d-1

a-1,b-4,c-3,d-2

In the context of the basic objects of the world; Match

List - I and List - IT and choose the correct code to

answer
List-1 List-11
a.ideas for 1. Hume
b. Monads for 2. Russel
c. Impression for 3. Plato
d. Sense- data for 4. Leibnitz

a-3,b-2,c-1,d-4
a-4,b-3,c-2,d-1
a-1,b-3,c-2,d-4

a-3,b-4,c-1,d-2

Which of the following, according to Jainism is

Anastikaya?

Pudgala
Dharma
Adharma

Kala

The view that 'God cannot be proved by casual proof' is

related to

TEY 3T &1 IAT L

T | (Rregia) I (@)
(T) FIfeter HAfTH 1 ol
(&) Hear Tsaar & 2 TFHC
(€1 It @ gew |3 5EA
(3N WreT AF 4 g
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©-2,#-4,#1-3,91-1
w-2,41-3,4-1,3-4
T-3,#1-2,4-4,31-1

T-1,d1-4,4-3,8-2

STATeT T STATHe el & Feasl #, g - 1 &1 gt - 11 § e

U & foT ITT el @ HEl SR T I HY

eIl =T
(T) 9T 1 5gd
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@) secaaHar |4 nsaa
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Q.No: 43

Q.No: 44

Q.No: 45

Q.No: 46

Kant
Locke
Berkeley

Hume

Which statement is not true:

Spinoza establishes pantheism

The existence of self can be proved according to
Hume

According to Logical Positivist Philosophers,
'metaphysics is impossible'

Locke says 'I do not know what is matter?'

Who is related to "critique of western culture"?
Nietzsche

Moore

Russell

Hegel

According to Kant the metaphysical explanation of space
and time is:

Critique of sensibility

Critique of understanding

Both (Critique of sensibility & Critique of
understanding)

None of these

Match List - I with List - II and select your answer
according to the code given below:

List-1 {Philosopher) | List-Il {Book)

a. Heidegger 1. Philosophical fragment
b. Kierkegard 2. Phenomenology of Spirit
c. Hegel 3. Philosophical investigations

d. Wittgenstein 4. Being and time

Codes: ABCD

A dFT T FITITT T
e wdfeaare Y TATIAT FIT &

FIH & ITHR HTeAT FT Hieaea Reg fBrar m warar @
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FIH § HE E

g - 1 H g - 11§ fAens HifSe q2r & 1 e & a8
Wiﬁn}

T | @rdfes) g @)
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a-1,b-2,c-3,d-4 T-1,d1-2,41-3,31-4
a-4,b-1,c-2,d-3 v-4,#-1,-2,89-3
a-1,b-3,c-2,d-4 v-1,#-3,41-2,8-4
a-4,b-2,c-1,d-3 v-4,#-2,4-1,9-3
Consider the following statements in the light of C.S. R FyT W ALtag.fiad & 3TER TR =, 3R T
Pierce and m_ark _the corre_ct c_ode: ey w1 w1 qafrg al |
a. essay on fixation of belief is related to method of . .
tenacy (T) Taear® Fr TATTT A FT TFY ToaT AT A E
b. essay on fixation of belief is related to Scientific () Treard & TUTIAT ey F grey Ao R A E
.No: 47 method . .
c. essay on fixation of belief is related to method of () faerare &1 wraer foser F gede we fafa 1}'?
doubt. (3N) TOTE & HTAR SAATET T FsrateT fier a3t &
D. According to Pierce there are three divisions of AT, HTERTET, JeaEHET
philosophy, phenomenology, Axiology, metaphysics ¢ ! !
Codes: EE
Only a is true Fad (T) FE 8
Only c is true Faa (M) T ¥
Only a and c are true Fae (T) aur (W) wr
Only a, b and d are true Fad (T), (@) aur () 7@ e
No: 4 According to Kant the synthetic a priori Judgmentis iz & yroram <ioeeroomeaTds regvra foRer fovofer 1 arcf & -
required criteria of : > >
Universality grsifAFar
Necessity Irfraridr
Novelty AdYeTar
All of these oA & woft
.No: 49 Which one of the following pair is not correct? fAeAfaf@d & i a1 goor @ 71T &
Ayer - verification theory T - A9 RAegia
Pierce - Pragmatic theory Ry - srdfhamare Regia
Moore - Refutation of Idealism Y - YcIIAIG T GUs
Ryle - Picture theory s - AT Regia

W & AT & Td 3R v & oy & [T & Sl a1 [epeq
p i r

AT IRTITHSF 7T F TNHR FIaT &

Which one of the following option is not correct with

-No: 50 reference to Russell's source and object of knowledge?

Russell accepts knowledge by acquaintance
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Q.No: 4

Russell accepts knowledge by description
Russell is Idealist

Russell is Realist

AT RAaUITcAs A F1 THFHR FIaT &
W TIIarey §
T TEGAT §

Part-B

According to Vaisheshikas, which of the following is not a
feature of Atom

Indivisible
Spherical
Imperceptible

Vibration

The state "Ayutasiddhanama Adharya dharabhutanama
yah Sambandhan" refers to

Samanya
Samavaya
Abhava

Dravya

Which of the following pair is not correctly matched
Satkaryavada - Sankya

Parinamvada - Advait Vedant

Asatkaryavad - Nyaya

Vivartavada - Shankar - Vedant

'The relation between Brahma and Jivatma is inseperable’
- is the view propounded by -

Shankara
Ramanuja
Vallabha

Nimbarka

AR AATTHAR 37T H @ et TT 4107 30T T ITRATIH e &

Ifqarsa
MATHR

T

~

"37gd e ITURTURS A I: Heey - efaf@d & 4
foraen! aRTEId ar &

A
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Which of the following statement is true in the context of
Vaisheshika philosophy?

Samavaya is eternal and inseparable relationship.
Samavaya is temporal and separable relationship
Samyoga is eternal and inseparable relationship

Samyoga is eternal and separable relationship

According to whose of the following space has its basis in
subjective constitution of the human mind?

Locke
Spinoza
Descartes

Kant

According to Hume, which of the following does not
belong to the category of 'Relations of Ideas'

Truths of Geometry
Algebra
Accidents

Three times five is half of thirty

The statement 'Object of our senses exist independently’
is associated with

Criticism
Idealism
Realism

Rationalism

'Man is himself the sources of all values' is the opinion of
Heidegger
Sartre

Allen show alter

3T &l o AR foeeT & § leT 1 U HUA GeF & ?

A e 3R sl wew ¥
FHIE Ay 3R AT e ¥ |
AT e qun AT dEw E
AT e qur R Jeg ¥ |
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qETE : -
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qEqarE &
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e
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.No: 10

.No: 11

.No: 12

.No: 13

.No: 14

Mac Intyre

The transcendental illusion according to Kant:
can be understood and removed

can neither be understood not be removed
cannot be understood but can be removed

can be understood but cannot be removed

For Mimasakas, auditory organ proceed from which of
the following

Kala
Dik
Akasa

Manas

Which one of the following is not consistent pair:
Atmakhyativada - Vijnanavadi Bauddha
Anyathakhyativada - Shunyavadi Bauddha
Abhyativada - Advata Vedanta

Asat khyativada - Visistadvaita Vedanta

The theory of word and meaning in Buddhism is called:
Shabda - Brahmavada

Sphotavada

Ajativada

Apohavada

Which of the following is an odd pair
Satkhyati : Yatharthakhyati
Viparitkhyati : Anyathakhyati

Yatharthakhyati: Akhyati Samvalit - Satkhyati
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.No: 15

.No: 16

.No: 17

.No: 18

Anyatha khyati: Yathartha khyati

Which of the following rejects the subjective element in
error altogether

Yatharthakhyati
Akhyati
Sat Khyati

Viparitkhyati

'The word is manifestation of word'. This is the view held

by -

Nyaya philosophers
Grammarians
Vijnanavadi Bauddha

Charvakas

Consider the unit following view regarding Ramanuja
Assertion(A)- Ramanuja propounded the doctrine of
Satkhyativada

Reason(R) - The existence of world is not possible.
Now select the answer according to the coding system
given below:

Codes:

Both (A) and (R) are true and (R) is the correct
explanation of (A)

Both (A) and (R) are true but (R) is not the correct

explanation of (A)

A is true but (R) is false

A is false but (R) is true

The pragmatic theory of truth accepts that:
truth cannot be defined

Truth is mere consistency

Truth is cognition transcendent

Truth is that which pays us something
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Q.No: 19 The Scepticism is associated with?

A

B
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.No: 20

.No: 21

.No: 22

.No: 23

Spinoza
Moore
Locke

Hume

Which one of the following is not matched:
Esse est percipi - Berkeley

Cogito Ergosum - Descartes

Natura - Naturata - Spinoza

Actus Parus - Locke

In which school of Indian Philosophy given below, the
view that perception should be free from trace of
language

Sankhya

Navya Nyaya

Vishistadvait

None of these are correct

The knowledge of paksadharmata as qualified by vyapti
is called as

Sadhya
Sadhana
Hetu

Paramarsha

According to Buddhism, Svalakshan is apprehended by;
Determinate Perception

Indeterminate Perception

Inference

Upaman
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Q.No: 24

Q.No: 25
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Q.No: 26

Q.No: 27

Q.No: 28

A

B

Which of the following pair recognized indeterminate
Perception as valid Perception

Buddista and Naiyayikas
Naiyayikas and Advaitins
Advaitins and Jainas

Buddhista and Advaitins

'Fire is cold, because it is substance' is an example of
following Hetvobhasa

Viruddha
Badhita
Savyabhicara

Asiddha

According to the Vedas, Rit means:
Moral order of the world

Social order of the world
Political order of the world

Religious order of the world

Which of the following, according to Buddhism is not a
bhrahmavihara

Dhyan
Metta
Mudita

Uppekha

Which one of the following does not belong to Mahivira's
Triratna?

Right speech
Right faith

Right knowledge
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.No: 29

.No: 30

.No: 31

.No: 32

.No: 33

Right conduct

Which one of the following is not correctly matched
according to Indian Ethics:

Moksha - Purushartha
Lokasangraha - Wealth
Brahmacharya - Ashramadharma

Dev - Rina

'Man is not a doer? but merely an instrument of God's
will?'. This statement is -

Nyaya vartika
Nyaya Bhashya
Bhagavata Purana

Gitopanishada

Who among the following believes in the dictrim of duty
Plato

Aristotle

Kant

Hegel

'Justice is the supreme virtue' is the view advocated by:
Epicurus

Parmenides

Plato

Zeno

Which one of the following is an appropriate statement
for the interpretation of Gita's Nishkam-Karma.

To perform action with desire for result

To perform action in accordance with svadharma
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Q.No: 34

Q.No: 35

Q.No: 36

Q.No: 37

Q.No: 38

To perform action for Lok sangraha

All are correct

Which one of the following is not a correct statement
Good and Evil are ethical concepts.

The followance of righteous action is duty

A man does not earn desert, merit and demerit by
his action

Virtue prevents a man from doing evil acts

As described in the old Testament 'an eye for an eye'
and 'tooth for tooth' supports which one of the following
theory of punishment:

Retributive theory of punishment
Preventive theory of punishment
Reformative theory of punishment

Psycho analytic theory of punishment

'Act as a member of Kingdom of ends is the statement of

Bentham
Mill
Kant

Spencer

Which one of the following belongs to meta ethics:
Racial segregation is wrong

If your enemy hungers, feed him

To say that something is good is to say that you
like it

Moral Goodness consists in tendency to enhance
human happiness

Which one of the following has not been accepted by
Kant as a postulates of morality?
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Q.No: 39

.No: 40
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Q.No: 41

Q.No: 42

Concept of Good will
Immortality of soul
Existence of God

Freedom of will

A pleasure is pure according to Bentham, when it is
Transcendental

Sensualistic

Unmixed with pain

Mundane

Free legal aid for an accused is called
Fundamental right

Human right

Directive principles of the state policy

Fundamental duty of the state

In traditional square of opposition, If E is true ; deduce
the correct among the following

'A' is False; 'T' is False; 'O’ is true
'A' is True; 'T' is True; 'O’ is true
'A' is False; 'I' is True ; 'O’ is False

'A' is Undetermined ; 'I' undetermined ; 'O’ is true

Which one of the following is correct option:

The falsehood if its conclusion does not guarantee
that either the argument is invalid or at least one
of its premises is false

The truth of its conclusion guarantees the
invalidity of an argument

The falsehood of its conclusion guarantees the
invalidity of an argument

All the statements are true
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Q.No: 43

Q.No: 44
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Q.No: 45

Q.No: 46

Q.No: 47

Which term of the existential negative proposition is
distributed in given below

Subject term
Predicate term
Both (Subject term and Predicate term)

None of these

If A and B are true, X and Y are false, then which one of
the following statement is true:

(~AVY)

(A.B). (XVvY)
~(AVX) .~ (XVY)
(A.B) v (X.Y)

If 'some socialists are peace loving' is true then 'Some
socialist are not peace loving' is

True
False
Undetermined

None of these

Translate 'business men are not always rich into logical
notations'

(Ix)(Bx- ~Rx)
(3x)(Bx. Rx)
(x)(BxDRx)
(x)(Bx D ~Rx)

When the logical relation between any two given
propositions is such that both cannot be true together
but both can be false together, it is called:

Contraries
Sub contraries

Contradictory
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Q.No: 48

Q.No: 49

Q.No: 50

Subalternation

Match the following list IT and select your answer
according to the code given below:

List | List Il
(Statement) (Statementform)
A.PV~ P 1. Contradiction
B.P.~P 2. Conjunction
C.PD~P 3. Contingent
D.P.Q 4. Tautology

codes :
abcd
4312
abcd
4231
abcd
1234
abcd
4132

Which one of the following is De-Morgan's Theorem
PV(Q.R) = (PVQ).(PVR)
P.(QVR) = (P.Q) V (P.R)
~(PVQ) = ~P.~Q

PV(QVR) = (PVQ)VR

Which one of the following is the correct symbolization of
the statement 'some saints are honest'?

Abbreviations:

526 : X is saint

H26 : X is honest

(326)(S26 . H26)
(26) (526 D H26)
(26) (526 D~ H26)

(326)(S26. H20)
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~(PVQ) = ~P.~Q

PV(QVR) = (PVQ)VR
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Q.No: 51

Q.No: 52

Q.No: 53

Q.No: 54

'I myself cannot be the cause of the idea of God, for I
am finite, imperfect being. The arguments given in the
support of existence of God is idea of perfect, infinite
being. It must have been placed in me by an infinite
being, or God and hence God must exist.'

The argument given in this passage for the existence of
God is

Teleological
Ontological
Ethical

None of these

Consider the following statement and select correct
code:

Assertion (A) - According to Radha krishnana" the
inherit feeling in us which inspires us to move higher, is
actually our divine self, which cannot remain satisfied by
physical materialistic or Sensuous achievements'
Reason(R)- Man is spiritual

Both (A) and (R) are true and (R) is the correct
explanation of (A)

Both (A) and (R) are true but (R) is not the correct
explanation of (A)

A is true but (R) is false

A is false but (R) is true

Buddha's theory of self is similar to the one propounded
in western philosophy as

Locke
Berkeley
Hume

Descartes

Which of the following option is appropriate according to
Bauddha Dharma

Bodhisatva

Mahayan
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Q.No: 55

Q.No: 56

Q.No: 57

Q.No: 58

Mahakaruna

All are correct

'Religion is redemption from evil. The aim of religious
personalities is also become good in spite of all the evils
in the world.' this statement is related to:

Problem of unemployed people
Performance of duties
Problem of Evil

None of these

"The atoms that we wish to arrive at as the short of last
residue in analysis, are logical atoms and not physical
atoms." is the definition of:

Matter substance
Conscious substance
Logical Atomism

Idealism

'Logic is the youth of mathematics and mathematics is
the manhood of logic' is the statement related to

Frege
Wittgenstein
Ryle

Russell

The philosopher, who accepts the philosophical disease
begins by the meaning and use of languages is:-

Wittgenstein
Husserl
Heidegger

Nietzsche
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Q.No: 59

In which of the following theory 'Scott is the author of
waverly' is used in the analysis -

Description theory
Bracketing theory
Picture theory

Correspondence theory

Q.No: 60 "What we cannot speak about we must pass in silence"

0O w >

O

Q.No:
61

Q.No: 62

the famous statement of Wittgenstein is advocated to:

Elimination of Philosophy
Action of Philosophy
Publication of Philosophy

None of these
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Match the following list II and select your answer el 3cd HI T Y

according to the code given below:

A.How to do things with words 1. Donald Dav

D. Actions, reasons and caused code | 4.J.L Austin

codes:

abcd a
4321 4
abcd a
3241 3
abcd a
2413 2
abcd a
1234 1
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B. Two Dogmas of Empiricism 2. Wittgenste Eﬁ { SITHATH 3']Tt5 m 2- m
C. Philosophical Investigations 3.Quain . m ﬁﬁm 3 ﬁ'lé?l’
S AT , I UT FET 4 AT

g

Which one of the following method is not true regarding

phenomenology?
Epoche
Doubt

Transcendental Reduction
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Q.No: 63

Q.No: 64

Q.No: 65

Q.No: 66

Eidetic Reduction

'"Truth is subjectivity' is the statement of:
Kierkegaard

Schleiermacher

Dilthey

Habermas

Consider the following assertion and Reason in light of
phenomenology:

Assertion(A): The theoretical investigation of
consciousness is main object of phenomenology. select
the correct view from the codes given below
Reason(R): The phenomenology not fulfills the

requirement of investigation about philosophical method.

(A) and (R) are both true and (R) is the correct
explanation of (A)

(A) and (R) are both true but (R) is not the correct
explanation of (A)

A is true but (R) is false

A is false but (R) is true

Who is the author of 'The aims of Phenomenology':
Farber, Marvin

Edmund Husserl

E.L.Allen

Edie James

Which one of the following wave addresses the financial,
social and cultural inequalities along with a campaigning
for greater influence of women in politics and media

15t wave
2"Wave
3" wave

4" wave
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In 19 century, human rights became a central concern

Q.No: 67 over the issue of
A Estate
B Gender -Inequality
C slavery
D Life
Consider the following regarding Ramanuja's Philosophy
Q.No: 68 and choose the correct option codes given below:
U Assertion(A): Ramanuja supports Shankar's mayavada
Reason(R):God soul and world all three are substances
A Both (A) and (R) are true and (R) is the correct
explanation of (A)
B Both (A) and (R) are true but (R) is not the correct
explanation of (A)
C A is true but (R) is false
D A is false but (R) is true
Match the following list II and select your answer
according to the code given below:
List I{Author) List i (Books)
A.Gaudapada 1. Sarirak bhasya
Q.No: 69 =
B. Sankaracharya 2. Mandukyakarika
C.Ramanujacharya 3.Shree bhasya
D.Vallabhacharya 4. Anu bhasya
Codes
abcd
A 2134
B abcd
4213
abcd
¢ 2143
abcd
D 1234
Q.No: 70 'Tattvamasi Mahavakya' is mentioned in: which of the

following Upanishad
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Q.No: 71

Q.No: 72

Q.No: 73

Q.No: 74

Brhadaranyaka Upanishad
Svetashtara Upanishad
Chandogya Upanishad

Mundaka Upanishad

'Ahura Mazadaa' (Wise lord) is the supreme being of
Judaism

Zorastrianism

Islam

Sufism

Which one of the following statements is not correct
according to Mahatma Gandhi?

Truth is God

The Word Ahimsa reflects the meaning both
positive and negative sides

Violence is better than cowardice

End justifies the means

Which one of the following statements is not a quality of
satyagrahi according to Mahatma Gandhi-

Satyagrahi must be honest and sincere
Satyagrahi must be disciplined solider
Satyagrahi must not be bold

Satyagrahi is a supporter of civil disobedience.

Match the following list II and select your answer
according to the code given below:

List I{Author) List if (Books)
A.Zoroastrianism 1. Granth Sahib
B.Islam 2.Toraha
C. Sikhism 3. Avesta
D.Judaism 4.Quran

Codes

FERUTF 3ufawg
damereR 3ufaveg
Biary 39favg
AUsF 3ufavg

'IEXT HTSTET' o € & 3TN TR Fedl A 73 §
Tge

T

FEATH

b ot

LN

HETCHT el & 3TAR hieT AT HT 8T &
T SATE
ITRAT e ATATcHS U fASTcHSF AT T TH2F &

AT Y 38T AT Avs §

T [ HY 37T seaT &

HETeHT ANl & TR Aefaf@e & e o fRHdvare sy
Hragie

TN FATER 3R A gar §
TR et A §

HATIE 79 g &

FATIE AT 3T+ HT qHdw gar §

T 1 30R  11 Y QAT 9l §U 319al Sea T e GarT Fer
T T

T | T
(T) SERT 1. T= Aifge
() T 2, el

3. 37T
4 F

@) e aa
(81) FgaT e



A

2

A abcd abcd
2143 2143
B abcd abcd
3412 3412
C abcd abcd
4123 4123
D abcd abcd
2413 2413
Consider the following statements in the context of HEICHAT el & gy # Ffai@d Hd«r W Far fiferw |
Mahatma Gandhi et
Assertion(A): He accepted satyagraha as a weapon to R (T): FETC fofeer amrsw & @ & faw wemrE 1
Q.No: 75 fight the British Empire 3T YA |
(Reason(R): He feel himself weak FROT (A1) § 379 F1 e THeS o
Mark the correct answer according to the codes given
below ? g Sy R T IE ¥ IR R T
Both (A) and (R) are true and (R) is the correct
A explanation of (A) (T) a1 (IR) = ¥ §, 3R (3R) (T) A g swrEar
B Both (A) and (R) are true and (R) is not the correct (T) T (3R) &kl ¥7 &, g (IR) (T) 1 & g 7
explanation of (A) g
C A is True and R is False (v) g7 &, (3N) 39T

D A is false and (R) is true (v) 39T &, (3IX) §T &



